A & 0l & A

20169 =0 A2 S0HIISSESH A (chel: &)
20k 22 - HAAIY - SAAH(3IH) Ol &F oA SE T Ofl Ak HwE2 o
So=
5 Al 481,383 480,602 781 0.16%
= 83,483
< 26,672
= 371,228
A 418,153 394,868 23,285 5.90%
= 58,542
& 21,684
[ia 337,927
HWegs 27,004 51,703 A 24,699 NAT TT%
HE2HZHI 36,226 34,031 2,195 6.45%
= 24,941
< 4,988
= 6,297
At8l = Xl 445,157 446,571 AT,414 N 0.32%
= 58,542
< 21,684
= 364,931
J= 445,157 446,571 AT,414 AN 0.32%
= 58,542
=) 21,684
= 364,931
ISEAESES] 418,153 394,868 23,285 5.90%
= 58,542
< 21,684
= 337,927
HII=S 418,153 394,868 23,285 5.90%
= 58,542
< 21,684
s 337,927
Heags(Fasxi) 27,004 51,703 A 24,699 NAT . TT%
PHNE(A=SSHISSESA) 27,004 51,703 A 24,699 NAT TT%
JIEt 36,226 34,031 2,195 6.45%
= 24,941
< 4,988
= 6,297
JIEt 36,226 34,031 2,195 6.45%
= 24,941
= 4,988
= 6,297
HE2HZH (FU=X 1) 36,226 34,031 2,195 6.45%
= 24,941
=) 4,988
= 6,297
HRAH(AZ2SHIISELSIA) 36,226 34,031 2,195 6.45%
= 24,941
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20168 & =204 A2 SHIISSESAH A sHel dE
20k 22 - HAAIY - SAAH(3IH) Ol &F oA SE T Ofl Ak HwE2 o
So=
< 4,988
o 6,297
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